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OASAEZEE 22l 6,600,000 6,600
OZL=R2E 22 5,500,000& 5,500
OXNZZE 22X + 500,000& *44! 2,000
401 AIEHIZ 28I 10,000 35,000 225,000
01 A& Bl 10,000 35,000 225,000
SHHFAE L=AILE 10,000, 000& 10,000
405 RHoHF S HI 2,000 2,000 0
01 XY 2 ZFH S| 2,000 2,000 0
OokL=®: =sJI7 A 7¢ 200,000& 103 2,000
sSY&AS At 46,144 41,056 5,088
101 @124 dl 36,144 31,056 5,088
4 D12t Z2REES 36,144 31,056 5,088
Olt=&+ datael ol
60,2403 x 10«60 36,144
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
Oltss+ M4 s +< 10,000, 000& 10,000
HE2LZH (sEII&sdH) 73,710 76,110 A 2,400
Jl23l 73,710 76,110 A 2,400
JlE2&l 73,710 76,110 A 2,400
201 L2l 29,010 29,010 0
01 At 22l 29,010 29,010 0
Oget+=gHl (s=&88 9,160,000 9,160
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SIS dH

. HH YU (sYII=4H)
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OYbt+ZH (=239 1) 10,180, 000& 10,180
Oger+=gH (s X =1t) 9,670,000 9,670
202 O4dl 31,200 31,200 0
01 = LH 4 Hi 31,200 31,200 0
ORNMSIY(s=2d1) 10,200,000 10,200
ORN2ZE (=22 Z) 10,800, 000& 10,800
ORNMSIY (s H) 10,200, 000& 10,200
203 R =&t 13,500 15,900 A 2,400
01 J122E YR =2 3,300 3,300 0
OsgllsdHaz 3,300,000& 3,300
04 FNSEHE=LH 10,200 12,600 A 2,400
ORNRIULETY (SES2AD)
3,000,000& 3,000
ORNSYYLSTY (5LFYD)
3,600,000 3,600
ORN2YERFIH (G XNZ D)
3,600,000 3,600
Heas(sgllsdd) 2,500,000 2,500,000 0
WEHHX S 2,500,000 2,500,000 0
It A ES 2,500,000 2,500,000 0
702 JISHEES 2,500,000 2,500,000 0
MNII3HEES 2,500,000 2,500,000 0
Otz sEASIALEIIS JISsdES
2,500,000, 000& 2,500,000




